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Class - VIII
Subject - Hindi ( 1st Language )
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Man is a social animal. He cannot live alone and nobody can be happy without sincere friends.
But selfish person cannot get friends. You cannot receive love unless you give it.If neighbours
and companions do not love you, it is your fault.
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LITERATURE

1. Choose the correct options: (1x5=5)
(@) Mrs. Packletide waited for the tiger with a rifle and
(i) agame

(i1) a pack of cards

(iii) some food

(iv) a bag

(b) The wall grew until it touched the

(i) clouds

(ii) shadow

(iii) sky

(iv) sun

(c) A British built ship that struck the Poseidon was
(i) The Flotilla

(if) The Hermes

(iii) The Pandora

(iv) The Yuta

(d) Miss Mebbin was Mrs. Packletide’s

(1) paid companion

(ii) friend

(iii) relative

(iv) acquaintance

(e) The shock of the collision had cut off all

(1) electric wires

(i) electric lights

(iii) water supply

(iv) food supply



2. Complete the given sentences: (1x5=5)

(a) The poet could not see the light of his dreams before him because

(b) Mrs. Packletide’s photographs of her hunting were published in different newspapers
like

(c) The voyage of the four submarines was marred because

(d) The great night of tiger hunting was

(e) The Poseidon was built by

3. Fill in the chart with information from the text: (1x5=5)

CAUSE EFFECT

@ (@)The great tawny beast rolled over in the
stillness of death.

(b) The poet will use his dark hands to (b)
break the wall.

(© (c)Mrs. Packletide does not take part in big
game shooting any more.

(d)The Yuta struck the Poseidon (d)

forcefully.

(e (e)The air inside the submarine grew more

and more stuffy.

4. Give the meanings of:

(a) quarry (b) succumbed (c) marred (d) rammed (e) appropriate (1x5=5)
5. Frame sentences with: (1x5=5)
(@) appetite  (b) senile (c) collision  (d) sufficient (e) immeasurably nearer

6. Answer the following questions:

(a) ‘How amused everyone would be if they knew what really happened.’

Who is the speaker in the quoted line? What does the remark of the speaker reveal about her? (1+4)
(b) Why has the poet forgotten his dream? How does he wish to renew his dream? (2+3)

(c) What is the Davis Rescue gear? Mention the qualities of Willis as an efficient Captain of the
submarine, with reference to suitable examples from the text. (2+3)



UNSEEN PASSAGE

7. Read the passage carefully and answer the questions that follow- (10)

On the first Sunday in March each year, kids get to take over the world’s airwaves. The United
Nations Children’s Fund (UNICEF) has designated that day as the International Children’s Day of
Broadcasting, or ICDB. Television and radio stations around the world invite young people to be
part of their programming. Thousands of broadcasters and kids participate, and the programmes
focus on children’s interests and issues. Kids are also involved in the broadcast process, learning
how radio and television programmes are made.

ICDB gives children a voice that can be heard around the world. On ICDB in 2009, young people
all over the globe reported on issues that affected them. Nearly 100 children from India recorded
stories about a flood in their area. Children in China drew pictures with messages for their parents.
In Senegal, young people spoke out against violence by giving reports, conducting interviews,
writing poems and singing songs. German children talked with young people in Serbia and shared
drawings and photographs. Australian kids voiced their opinions to children in Columbia, Fiji and
Tonga. Children produced videos on a variety of different topics, from air pollution to loneliness.
Across the world, young people expressed their feelings and sent messages about what mattered
most to them.

After ICDB is over, UNICEF holds a contest for the best radio or television programme. People
who make the programmes that air during ICDB can submit their programmes. The winners attend
a special celebration. The 2009 radio winner was a station in Brazil that broadcast a show for 24
hours about children from poor communities. The show used interviews, diaries and music to
promote peace. The winner for the television programme was a station in Kenya. The show, which
was hosted by two Kenyan youths, talked about the challenges that Kenyan children face and
highlighted positive stories about young people in their communities.

(i) Answers the following questions-

(a) What do the children learn during the entire process of broadcasting? (1)
(b) How did the children from Australia and Germany participate in ICDB? (2)

(c) How did Senegal participate in the programme? (2)

(i1) Complete the following sentences using the information given in the passage- (1x3=3)

(a) Nearly 100 children from India

(b) The two Kenyan youths spoke

(c) After the completion of ICDB

(iii) Find out the words from the given passage which mean the same as the following- ~ (/-x4=2)

(a) Emphasized-
(b) Transmit a programme by radio or television-
(c) Optimistic-

(d) Support or actively encourage a cause-



GRAMMAR

8. (a) Fill in the blanks with suitable Articles and Prepositions:

(i) He is capable as a leader but intolerant opposition.
(if) May we have pleasure of your company?

(iii) Florence Nightingale came a noble family.
8.(b) Change the Voice in the following sentences:

(i) People will soon forget it.

(ii) When will you return the book?

(iii) She had offered me a cup of tea.

(iv) The doctor is not treating the patient.

(v) You are known to them.

(vi) He was elected the secretary.

(vii) By whom was this painting done?

(viii) Do not insult the poor.

(ix) 1 was struck by his singular appearance.

8.(c) Change the mode of Narration:

(1) 1 said to her, “What did you expect of me?”

(i) The judge said to the performer, “Don’t try to overdo it.”
(iii) My friend said to me, “Let Souvik do whatever he likes”
(iv) The lady said, “How disturbing the noise is!”

(v) He said to me, “I shall meet you at the wedding.”

(vi) Abdul said that he had seen the picture.

(vii) He shouted, ‘Let me go.’

(viii) He applauded him saying that he had done well.

WRITING SKILL

9. Write an autobiography of a movie hall in about 150 words.

10. Write a paragraph (within 150 words) on — ¢’A Day Spent in the Midst

of Nature’.

(1x3 = 3)
(1x9 = 9)
(1x8 = 8)
(10)

(10)
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Answer the following questions:
10)

. If the price of 12 kg potato is

Rs.180, then what is the price of
15 kg potatoe
a) Rs.200

b) Rs.225
c) Rs.210
d) Rs.240

. Find the area of square whose

lengthis 0.13 m.

a) 1.69 sg.m
b) 16.9 sg. m
c) 0.0169 sg. m
d) 0.169 sg. m
If x —§= 5, find the value of
x? + iz )
a) 25
b) 23
C) 24
d) 22
. (a—b)*—(a+b)?*=
a) 2(a? + b?)
b) —4ab
C) 4ab
d) 2(a®? — b?)

. The number obtained on

multiplying 2a? with a number is
—%a3b . Find the number.

a) 3ab

b) —3ab

C) —%ab

Full Marks:
(1x10=

d)%ab

. If(x® + 9x* + 8x?) is divided

byx*, then the highest power of
'x'in the quotientis __

a) 2

b) 3

c) 4

d)5

. What is the value of

complementary angle of 39°¢
a) 51°

b) 140°
c) 141°
d) 50°

. A straight line DC is drawn at

the point D on the straight line
AB. If ZCDB = 45°, then what is
the value of 2CDA ¢

a) 135°

b) 145°

C) 45°

d) 90°

. If ABC be a triangle, then what

is the value of (% + % + %C) e
a) 60°
b) 30°
c) 120°
d) 45°

If AB and CD intersect
each other at ‘O’ and 240D =



100°. What is the measure c) 80°
of LBOC ¢ d) 20°
a) 100°
b) 0°
Il.  Answer the following questions: (2x 12 = 24)

1.
2.

3.

Find the cost of turfing a lawn, 25m by 20m at Rs.15 per square metre.

If 180 pages of a book is read by Iva in 15 days, how many pages can be
read by herin 12 dayse

Find the area and perimeter of a square whose each side is of length 5m
/cm.

. . 1 1
Find any two rational numbers between E and -

The difference of two expressions is (7x + 5). If the greater one is (5x2 + 9x +
8), what will be the smaller one?

. Find the value of (27x3 + 54x3 + 36x + 8), when x = —2..

Find the product with the help of formula: 101 x 99.

In the friangle ABC, 2BAC = 50°, £ABC = 60°. Find the measure of the exterior
angle adjacent to £BCA.

ABCD is a quadrilateral. If ZABC + 2ADC = 178°, then what is the value of
2BAD + £BCD?

10. P
A 0 B
Find the value of LAOP and 2BOP , if measurement of 2AOP is more than 2BOP
by 140°.
11. E
D
60°\ a / 40°
) 7~ \/ .
A 0 J 500
B Y



Two straight lines AB and CD intersect each other at the point O. From the
figure, find the value of a., B, v.

12.

P

300 (

40°

R

»

D

In the above figure, AB || CD. Find the measurement of ZPQR.

Answer the following:

(3x1=3)

Construct a Pictograph based on the given data which shows the favourite snack of
the students of class 8 in a school.

FOOD NO. OF STUDENTS
Burger 40
Pizza 50
Pasta 35
Chaat 50
Pastry 30

Construct a Pie Chart from the given data based on the weekly record of the number

of frees planted by a class. (4)
DAY NO. OF STUDENTS
Monday 50
Tuesday 30
Wednesday 70
Thursday 40
Friday 50

Answer the following questions (any three

1. 25 men can do a piece of work in 12 days working 8 hours per day. How many days
will be required by 20 men to do the work if they work for 6 hours per day?2 (use rule

of three)

(4X3=12)

2. Find the cost of carpeting a room, 25m by 20m with carpet 5m wide at Rs 8 per

metre.

3. A confractor undertook 12 km long road construction job scheduled to be
completed in 350 days. After employing 45 men for 200 days, he found that only
4§kms of road was completed. How many additional men must be engaged to

finish the work on time? (use rule of three)



VI.

VII.

VIII.

XI.

4. Draw a double bar graph to represent the average marks obtained by the students
of class VIl in History and Geography for the years 2010 to 2012,

Year 2010 2011 2012

History 95 78 68

Geography 92 85 95

Factorise (any two)
(3X2=6)

1. X2-y2— éxa + 2ya + 802
2. 64(a+ 3x—-4y)2-9 (20 -x+ 3y)?
3. X4+ x2y2 +y4

Solve (any one) (3)
x+4 + x+3 — x +11

], X xS

5 4 6
2. 3(x-1) = (x+2) =x+ 2(x-1)
Answer the following questions ( any four) (3X4=12)
Divide (-8a4+ 1603 — a + 2) by (-202+ 3a + 2)
Find the product of : (3x2+5x + 4) (3x2- 5x + 4)
Divide (m* — 7m? — 2m3 + 12 + 8m) by (—-m + m? — 6)
Simplify (x+y) (X2 =Xy +y2) + (x =y) (x2+ xy + y?)
If (x+y)=2 and (x-y)=1, find the value of 8xy(x2+ y2)
0.73x0.73+2x0.73x0.27 + 0.27 x 0.27

ALl ol ey

Answer the following question (any one) (3)

1. The present age of father is 7 times that of son. After 10 years, age of father will be 3
times that of son. Find the present age of son?2

2. If | get another % of my present money, | shall have altogether Rs700. How much
money have | af presente

Answer the following question (any one) (5)

1. If two straight lines intersect each other, prove that the vertically opposite angles
are equal.

2. When a straight line cuts two other straight lines, prove that those other two straight
lines are parallel if either (i) a pair of alternate angles are equal,

Or (i) a pair of interior angles on the same side of the fransversal are together equal
to two right angles.

Answer any one question (3)

1. Prove that the angle between the internal and the external bisector of an angle is

equal to one right angle.

2.Prove that the bisectors of a pair of vertically opposite angles lie on the same straight
line.

XIl. Answer any one question (5)

. Construct a friangle whose length of two sides are 6 cm and 9 cm and the

measurement of the angle opposite to the side of length 9 cm is 1050

2. Draw a triangle ABC in which BC measures 8 cm, LABC=30°and £BCA = 75°.
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Class VIl

Subject: - History

Time: 3 hrs
| . Attempt all the following : (1x20=20)

1.
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®ao 000

The century which is generally
taken as the starting point of the
modern period in India

. 16th Century
. 17th Century
. 18t Century
. 19th Century
The power who became masters of

India were

. French

. British

. Germans
. Russians

The word ‘Renaissance’ literally
means

. Progress

. Liberalism

. Democracy
. Rebirth

The ‘Renaissance’ movement first
began in

. Italy

. England
. Austria
. Turkey

The Renaissance thinkers were
Religious

Rationalists

Fundamentalists

Communists

The steam powered locomotive
was invented by

James Watt

George Stevenson

Charles Darwin

Lavoisier

The number of American colonies
were

. 10
1

12

.13

The mother country of American
colonies was

Full Marks: 90

a. England

b. Belgium

c. Germany

d. Bulgaria

9. The ruler of England during the
American revolution was

a. Elizabeth |

b. George llI

c. Charles i

d. Edward VI

10.The American colonies were setup
in North America along the

a. North Coast

b. South Coast

c. East Coast

d. West Coast

11.The States’- General was last called

in
a. 1613
b. 1614
c. 1615
d. 1616

12.Napoleon was the

a. First Consul

b. First General

c. First Director

d. First Administrator

13.The southern states of the USA
depended heavily on

a. Trade

b. Industries

c. Agriculture

d. Barter System

14.The North and South of the USA
clashed over the issue of

a. Tariff

b. Income Tax

c. Army

d. Weapons

15. Abraham Lincoln was a great

a. Warrior

b. Poet

c. Capitalist

d. Orator



16.The American Civil War began on b. Indian Army

12th April in c. Indian courts
a. 1860 d. Legislative Assembly
b. 1861 19.The Supreme Commander of the
c. 1862 Indian Armed Forces is the
d. 1863 a. Prime Minister
17.The President of India is selected for b. President
the term of c. Finance Minister
a. 4 years d. Chief Justice
b. 5years 20.The Vice President is elected by
c. 6years a. Council of Ministers
d. 7 years b. People of India
18.The Vice President is the ex officio c. Indian soldiers
Chairperson of the d. Electoral College made up of both
a. Rajya Sabha the Houses of Parliament
Il . Group A — Answer any 8 of the following (1x8=8)
1. The century is regarded as the starting point of the modern period in

2
3
4.
5.
6
7
8
9

Europe.

. Constantinople is now called
. The sailor reached India in 1498

was a Portuguese sailor, who was first to sail across the world.
James Hargreaves invented the
was called the ‘cottonopolis’ of the world

. The people who worked in factories and received wages were called

was the Queen of France during the French revolution.

. The Americans were led by against the British.

Group B: Answer any 8 of the following (1x8=8)

1.

0 & N oW

What is Historye What are the three eras of history?

Who was Abraham Lincolng

After whom was America named?

Who invented the Flying Shuttle?e

Give the names of two cash crop producing countries in the 19th century.

What is a colony?

In which year was the Treaty of Paris signed ¢ State its significance.

Give the names of two intellectual philosophers who inspired the French Revolution.

Who wrote ‘Uncle Tom's Cabin'e What was the thematic contente

lIl. Attempt any 11 questions (2x11=22)

1.
2.
3.

What is meant by primary and secondary sourcese Give an example of each
What is Reformation and what is the view of reformers?

What was the Bastillee Explain the significance of storming the Bastille.



4. Whom did Napoleon call * the nation of shopkeepers' 2 In which battle was he
defeated in 18152

5. Who led the abolitionist movement2 Which institution did he set up?

6. Give the names of the Confederate States. Who was chosen as its President?

7. Who issued the Emancipation Proclamation and when? What was the importance?

8. Which famous document did the National Assembly adopte What did it signifye

9. What difference in economy did the North and South of the United States have?

10.Who are the Protestants?

11.What is Bill of Rights?

12.When was the Declaration of Independence signede Who drafted ite

IV. Answer any 8 questions (3x8=24)
1. Whatis factory system of production ¢
. How did Industrial Revolution bring about the rise of colonies?
. Why did the European rulers look for new trade routes to the Easte
. Write a note on the Boston Tea Party?

. What do you know about the Stamp Acte

2
3
4
5
6. Analyse the economic causes of the French Revolution.
7. How did the issue of slavery become the cause of American Civil War?
8. Describe any four executive powers of the Indian President?
9. Mention the powers and functions of the Indian Prime Minister?
LA

V. Answer any one of the following (8x1=8)
1. Why did Industrial Revolution begin in England?
2. Describe the social picture of France before the French Revolution.
3. How did Industrial Revolution lead to the
a. Rise of Capitalism

b. Growth of towns and cities
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GROUP - A
|. CHOOSE THE CORRECT ALTERNATIVE: (1x10=10)

1. During the origin of the earth the heavier materials that
moved towards the centre of the earth are:

a. Nickel and iron

b. Silica and aluminum
c. Silica and magnesium
d. Iron and aluminum.

2. As one descends towards the inner core, temperature
increases at the rate of 1° C for every:

a. 42 metres
b. 32 metres
C. 22 metres
d. 52 metres

3. The world's deepest mine is known as:

a. The Challenger Deep
b. Robinson Deep

c. Sunda Trench

d. Mid Atlantic Ridge



4. The point from which Magma comes out on the surface
due to convection current is called:

a. Caldera

b. Geyser

c. Plume

d. Hot spring

5. About 230 to 300 million years ago the continents were
united to form a gigantic continuous landmass called:

a. Cape

b. Panthalassa
c. Pangaea

d. Plume

6. To reach the centre of the earth from the surface one has
to cover a distance of:

a. 6270 kilometre
b. 6370 kilometre
c. 6470 kilometre
d. 7547 kilometre

7. According to this scientist, heat of the earth's interior is
the primary cause of volcanic eruption:

a. Professor McDonald
b. WJ Morgan

c. Le Pichon

d. McKenzie

8. Tectonic plates move at the rate of about:

a. 8 cm /year



b.10 cm /year
c. 15cm /year
d. 20 cm /year

9. The highest range of Western Cordilleras is:

a. Alaska Range

b. Western Sierra Madre
c. Coast Range

d. Rocky Mountain.

10. Grand Canyon is located on the river:

a. River Yukon
b. River Fraser
c. River Colorado
d. River Columbia

GROUP -B
Il. CORRECT THE FOLLOWING SENTENCES: (1x10=10)

1. Molten rock material mixed with gas and vapour found
inside the earth is called Lava.

2. The temperature of the inner core is between 2000°C and
3000°C.

3. The surface waves that bear the characteristics of S waves
are called Rayleigh waves.

4. Seismograph is an instrument by which intensity of energy
released by a single earthquake is measured.



5. Earthquakes are more destructive when the distance
between the seismic focus and the epicentre is longer.

6. Vulcanicity of fissure eruption type occurs through craters
or vents.

7. A strait is a narrow neck of land that joins two large
landmasses.

8. Mexico is the largest country of North America by
landmass.

9. Mt Mitchel on the Blue Ridge mountains is the highest
peak of the Coast Range.

10. Mackenzie river rises in Lake Titicaca.
[l. FILL IN THE BLANKS: (1x10=10)

1. The word lithosphere is derived from the Greek word
meaning rocky.

2. The discontinuity lies between the mantle and the
outer core.

3. The circumference of the earthis .
4. The 'Continental Drift Theory' was put forward by .
5. The term plate was coined by .

6. The driving force behind plate tectonicsis ___ in the
mantle.

7. Areas with high volcanic activities are called :

8. North America ranks largest by population among the
seven continents.



9. The __ parallel of latitude runs through the northern part
of North America.

10. Columbia plateau is an example of ___ plateau of North
America.

IV. ANSWER IN ONE OR TWO WORDS: (1x6=6)
1. What is the average density of the earth?

2. A source which provides information about the earth's
interior.

3. What is the meaning of the term ' tekton'?
4. Another name for focus of an earthquake.
5. Which is the highest mountain peak of North America?
6. Name the largest island in the world.
GROUP-C
V. ANSWER THE FOLLOWING QUESTIONS: (2x5=10)

1. Define Mohorovicic Discontinuity and Lehman
Discontinuity.

2. What is Geothermal Energy?
3. Write a short note on Circum-Pacific Earthquake belt.

4. Mention the latitudinal and longitudinal extension of
North America.

5. Name the five great lakes of the 'Lake region of North
America'.

GROUP -D



VI. ANSWER THE FOLLOWING QUESTIONS: (3x3=9)
1. Write the differences between Crofesima and Nifesima.

2. Mention two negative and one positive effect of
volcanoes.

3. Write three points of geographic importance of North
America.

GROUP - E
VII. ANSWER ANY THREE OF THE FOLLOWING: (5x3=15)

1. Explain in detail the middle layer of the earth under the
following headings (depth, division, constituent substances,
average temperature and density).

2. Name the types of plate boundaries and write the
characteristics of any two of them.

3. What are the causes of earthquakes?

4. Name the physical divisions of North America. Give an
account of the highlands which lie in the eastern part of
North America.

GROUP - F

VIIl. DRAW NEAT LABELLED DIAGRAM OF THE FOLLOWING:
(10)

i) Structure of the crust. (4)
ii) Acid Lava Cone. (3)
iii) Subduction. (3)
GROUP -G



IX. LOCATE THE FOLLOWING WITH APPROPRIATE SYMBOLS
AND NAMES ON THE OUTLINE MAP OF INDIA (1x10=10)

. Gulf of Khambhat.
. Shiwaliks.
. Satpuras.

. Meghalaya plateau.

1

2

3

4

5. River Ganga.

6. River Narmada.
7. Konkan coast.
8. Andaman and Nicobar Islands.
9. Delhi.

10. Mumbai.
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Choose the correct option:

1. The Sl unit of latent heat is
a. Calorie
b. Joule
c. Kelvin
d. None of the above
2. The magnitude of speed of light in
glass is nearly
a. 3x108 m/s
b. 2x108 m/s
C. 2.25x108 m/s
d. 3.25x108 m/s
3. Which of the following relations is
correct if D=Density ; V= Volume;
M=Mass
a. M=D/V
b. V=D/M
c. D=M/V
d. None of the above
4. The rate of evaporation of a liquid
increases when,
a. Temperature of the liquid
falls
b. Liquid is poured in a vessel
of less surface area
c. Airis blown above the
surface of liquid
d. Humidity increases
5. Refractive index of an optical
medium is always,
a. Less than one
b. More than one
c. Equal to one
d. None of the above

Fill In The Blanks:
1. The unit of coefficient of cubical expansion is
ml of water at 40 C.

2. One kg is the mass of

Time: 3 hours

1x10=10
6. Boiling point of a liquid is
increased by
a. increasing the volume of the
liquid
b. increasing the pressure of
the liquid
c. adding ice to the liquid
d. decreasing the pressure of
liquid
7. Coolingis produced in
a. Boiling
b. Evaporation
c. Both
d. None
8. The refractive index of an optical
medium is maximum with respect
to which of the following colors of
lighte
a. Red
b. Indigo
c. Orange
d. Violet

9. The cross section of a prismis
Rectangle

. Square

Circle

Triangle

0o

10. One ml equals
I msd

100 litres

0.01 litres

. Im3

00 UTo

1x5=5

3. The image formed by a convex mirror is virtual, erect and



4, is an imaginary straight line joining the pole and center of curvature
of a spherical mirror.

5. One kg of water at 100 © C absorbs Joule of heat to vaporize into steam
at 100°C.
Correct the statement: 1x5=5

1. Liguids can undergo only linear expansion.

2. Invaris an alloy of iron and copper.

3. The temperature at which the molecular motion completely ceases is known as
absolute zero on the Fahrenheit scale.

4. The focal length of a spherical mirror is twice its radius of curvature.

5. The incident ray is perpendicular to the emergent ray during refraction by a
rectangular glass slab.

Answer in one sentence: 1x10=10

1. Whatis meant by pole of a spherical mirrore

2. During refraction, what is meant by the angle of refractione

3. Where should an object be placed in front of a concave mirror to obtain an
image at infinity2 Also state the nature of such an image.

4. How does a light ray along the center of curvature of a concave mirror get
reflected?

5. Arrange the following in the decreasing order of density.
Iron , Cork, brass, water , mercury

6. Write the relation between linear , superficial and cubical expansion
coefficients of solids.

7. State one exception of thermal expansion.

8. How does density of a substance change on heating?

9. Whatis the change in the average kinetic energy of the molecules of a solid
during melting at it's melting point?

10. The density of a substance is 7800 kg/m3 . Express it in g/cm3.

Answer the following: (2x10=20)
1. State the laws of refraction of light.
2. What is coefficient of linear expansion?
3. Distinguish between real and virtual image.
4. Explain using the theory of molecular motion that why liquids have a definite
volume and molecules cannot leave the surface.
5. Draw a convex mirror of radius of curvature of length 3 cm. Also mark it's pole,
focus and centre of curvature.
6. What happens to a light Ray after reflection if it is incident
a. Along the focus of a concave mirror?
b. Parallel to the principal axis of a convex mirror?
7. The dimensions of a hall is 12.5mx8mx5m. If the density of airis 1.2 kg/m3, Find
a. The capacity of airin the hall
b. Mass of airin the hall.



20 0

10.

Why are glass wares used in kitchen made of Pyrex glassese

2 iron rods, one of length 15 m and the other of length 30 m are heated to the
same rise in temperature. Which of them will expand more? Give reasons.
“The density of Aluminum is 2. 7 g/c.c . Explain this statement.

Answer the following: (3 x10=30)

1.

10.

Establish the relation between the different units of density. Calculate the
volume of a sample of wood of mass 1.6 kg, if the density of the wood is 0.8
g/c.c.
Define the term relative density. State its unit. Why does it have no unit¢ Name
the device used to measure relative density of a liquid.
Explain why

a. iron rims are heated before they are fixed on wooden wheels.

b. The gaps are left between successive rails on a railway track.
Explain the factors affecting superficial expansion of solids.
Compare the process of evaporation and boiling with at least 4 points of
difference. Also right the similarity between them
Explain thermal expansion in solids on the basis of molecular motion. Site 2
reasons fo explain why Mercury is used in thermometers.
What do you mean by dispersion? Draw a diagram to show that the prism
disperses the white light.
With reason, write the type of spherical mirror used in a shaving mirror and as a
rear view mirror in vehicles .
Draw a ray diagram to show the formation of an image of an object when the
object is placed at the center of curvature of a concave mirror. State the
position, size and nature of the image so obtained.

A. Which is optically denser water or glasse Explain.

B. A ray of light falls normally on a glass slab. what happens to it after refraction?
Also write the measure of its angle of incidence and angle of emergence.

Answer the following : (5 x2=10)

1.

A. What is a Mirage. Give reason for its formation. (2)
B. Explain with a diagram why a coin placed at the bottom of a vessel appears
to be raised when water is poured in the vessel. (3)

A. What are the main effects produced by the absorption of heat in a body?
B. “The melting point of ice is 0°C". Explain this statement.
C. Demonstrate thermal expansion in solids with an experimental study.

(1 +1+3)
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f)

9)

h)

)

Group A

Choose the correct answer :

Molecular formula of glucose is -

I)CGHIZOG ii) CGHZZOII |i|) C4H1206 |V) CHZO
Which of the following is highly rigid ?

i) solid ii) liquid iii) gas iv) plasma
Passing electric current through a platinum wire is a -

i) chemical change ii) physical change

iii) periodic change iv) none of these

A non-metal which is a good conductor of electricity -
i) graphite ii) sulphur iii) phosporous iv) bromine

Aninert gas is -
i) oxygen ii) nitrogen iii) helim iv) chlorine

A brittle metal is -
i) sodium ii) potassium iii) zinc iv) mercury

A pair of cations -

i) CI"and OH" i) Cl and H*

iii) Mg* and Ca* iv) COs?and Cs*

Boiling point of pure water is -

i) 0°C ii) 100°C iii) -100°C iv) 273°C
Common solvent used in chromatography -

i) ethyl alchohol i) mustard oil

iii) vinegar iv) kerosene

A homogeneous solid + solid mixture -
i) brass i) smoke iii) sand and stones
iv) common salt and chalk.

Fill in the blanks :

Chromatography means

Name the element which has highest percentage in the universe

Time : 3 hrs

(1 x10= 10)

(1 x10= 10)

Molecular formula of blue vitriol is
is a metal which can be cut with a knife.

Mixture of ammonium chloride and sand is separated by
Reaction in which heat is absorbed is called
Tap water is purified by .
is a non-metal which is lustrous.
proposed law of conservation of mass.



b)
c)
d)
€)
f)
9)
h)
i)
)

e)
f)

9)

h)

Correct the following with reasons : (1 x10=10)

Burning of a candle is a physical change.

During boiling the temperature continues to rise.

Particles of matter are in uniform motion and do not collide with each other.
Oxygen is a gas which is inflammable and a non-supporter of combustion.
Iron is a metal which reacts with cold water to give hydrogen.

Components of a mixture can be separated by chemical means only.

Kinetic energy of molecules of solids is maximum.

Mass decreases when magnesium wire burns in air.

Components of ink are separated by centrifugation.

Iron sulphide is an example of a mixture.

Give one word answer to the following : (Y2 x 20=20)

A non-metal which is ductile.

A metalloid.

An exothermic physical change.

An anion.

A metal which is a poor conductor of electricity.

Total number of elements known.

An irreversible change.

Scientist who first prepared hydrogen.

A slow change.

A pair of miscible liquids.

A substance that adsorbs other substances.

Apparatus in which vapours are cooled during distillation.
Formula of sulphuric acid.

Chemical name of rust.

A chemical change from day-to-day life.

A non-periodic change.

Space between molecules.

Process by which pure sugar is obtained from its solution.
A substance obtained from crude petroleum.

An impure substance.

Answer the following in one sentence : (1x10=10)
Give the chemical name and formula of vinegar.

State one postulate of kinetic theory of matter.
Give two properties of a metalloid.

Name the technique to separate the mixture of :-
i) ammonium chloride and potassium chloride
ii) petrol and diesel.

What are crystals?

Does burning of coal violates law of conservation of mass? Explain.
What type of changes are these :-

i) dissolution of ammonium chloride in water
ii) rusting of iron.

Give exception to the fact that :-

i) metals are malleable.

i) non-metals are soft.

Give one example of :-




i) slow change
ii) reversible change

)] Why sodium chloride is a compound?
V1.  Answer briefly : (2x6=12)
a) Distinguish between (any one) :-

i) physical and chemical change
i) compound and mixture.

b) Explain what type of change is shown by slaking of lime.
C) Why separation of components of mixture is required?
d) Mention the reaction occurring between baking soda and vinegar. What change occurs when

naphthalene balls are kept in air? Name the term.
e) What type of liquids are these —

i) kerosene and petrol

i) kerosene and water

Define the type.

f) Explain law of conservation of mass with a simple experiment.
VII.  Answer the following : (3x6=18)
a) Give two points to justify what type of changes are these — (any three)

i) electrolysis of acidified water
i) magnetization of iron

iii) rusting of iron

iv) glowing of electric bulb.

b) Explain briefly the steps required to separate the components of mixture containing sulphur, chalk
and camphor.
C) Mention the principle of separation of the following methods —

i) Fractional distillation
ii) Centrifugation
iii) Separating funnel
d) Explain the properties of liquids on basis of kinetic theory.

e) Mention the agents that cause change of state.

Name the solvent for - a) Paint b) lodine

Name one mixture separated by fractional crystallization.
f) Mention the following with respect to chromatography —

i) the two phases with one example of each.
i) principle of separation.
iii) one advantage and one application.

VIII. Describe laboratory preparation of hydrogen with respect (2+1+1+1)
to the following points

a) reagents used.

b) two reaction conditions

C) reason for preferring granulated zinc.

d) collection and drying of the gas.

IX. Draw labelled diagram of any one - (5)

a) Kipp’s Apparatus.
b) Laboratory Preparation of Hydrogen.
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Choose the correct option:- ( 1x10=10)

. Vascular bundles are made up of-

(a) xylem (b) phloem (c) both xylem and phloem (d) none of these.

2. Which of the following is a micronutriente
(a) Potassium (b) Phosphorus (c) Sulphur (d) Iron

3. Which of the following is a rhizome?
(a)Potato (b) Onion (c) Ginger (d) Carrot.

4. Spores are produced by- (a) fungi (b) Hydra sp. (c) Paddy plants (d) Amoeba sp.

5. The natural way of attachment of the embryo in the wall of the uterus is called- (a)
ferfilization (b) differentiation (c) implantation (d) gestation.

6. The uterus opens outside into the- (a) ovary (b) vagina (c) urethra (d) ureter.

7. Vallisneria sp. is an example of- (a) insect pollinated plant (b) water pollinated plant

(c) wind pollinated plant (d) bird pollinated plant.

8. Force responsible for ascent of sap is- (a) Capillary force (b) Root pressure (c)

Transpiration pull (d) All of these.

(b)Root hairs are suited for absorbing water from the soil because- (a) they have large
surface area (b)They have semi-permeable membrane (c) they contain a solution
of higher concentration than the surrounding water (d) All of these.

9. Rose plant can be grown by which of the following methods of vegetative
propagation?

(a) Grafting (b) Cutting (c) Layering (d) Both (b) & (c)

1)) Fill in the blanks:- ( 1x10=10)
1. Yeast cells produce small outgrowths called
2. In grafting, a stock is joined with a
3. is a plant whose leaves produce odven’rl’rlous buds in their margin.
4, is the movement of particles of a substance from an area of higher
concentration to an area of lower concentration.
5. Purple and red spots appear on leaves due to deficiency of nutrient.
6. Alternative name for fallopian tube is
7. Transpiration is reduced if the airis
8. are thin walled living, elongated cells attached to sieve tubes.
9. Trapais an aquatic plant pollinated by
10.In human beings, takes in the fallopian ’rube
)  Write ‘true’ or ‘false’. If false, write the correct statement. ( 1x10=10)
1. Binary fission gives rise to two daughter cells.
2. The mass of undifferentiated cells formed in tissue culture is called callus.



»

7.
8.
9.

Gynoecium bears stamens.

Layering is used to cultivate ginger.

A semi-permeable membrane allows larger molecules to pass through, but prevents
smaller ones.

Water absorbed by the roots reaches the leaves and is used in producing food for the
entire plant.

Water enters the root- hair by osmosis.

Prostate gland forms a part of the female reproductive system in human beings.

The sperm and the egg fuse together to form the spore.

10.Xylem parenchyma helps to store food in plants.

IV) Answer the following questions in brief: - (1x10=10)

1.

A

N o

9.

Name the dead sclerenchymatous cells that provide mechanical strength to the
xylem. (1)
Define root hairs. (1)
What do you mean by staminate flowerse (1)
State one basic difference between asexual and sexual reproduction. (1)
Write the name of the method of propagation by which starfish regrows the missing or
lost parts of the body. (1)
What is the period of gestation in human beingse (1)
Name any two plants produced by artificial pollination. (1)
Name the plant tissue which helps in carrying the food to different parts of a plant.

(1)
Define fruit. (1)

10.Name the pear-shaped hollow, inverted muscular organ in female reproductive

system. (1)
GROUP- B (40 Marks)

V) Answer the following questions: -
(2x5=10)

1. State one important function of the following: -
(1x2=2)

a) Seminal vesicles b) Ovary.

2. Write two important characteristic features of insect pollinated flowers. (2)
3. Write two important differences between xylem and phloem. (2)
4. Explain the role of transpiration in producing cooling effect. (2)
5. Write two important differences between diffusion and osmosis. (2)

V1) Answer the following questions: - (5x6=30)



1. Write short notes on the following:- (2.5x2=5)
a) Micropropagation b) Layering.

2. Define flower. Draw a neat labelled diagram of different parts of a typical flower.
(1+4=5)

3. Write three advantages of vegetative reproduction. Differentiate between
macronutrients and  micronutrients.(Two points). (3+2=>5)

4. With the help of an experiment show that plants lose water through leaves. Write one
important function of tracheids.
(4+1=5)

5. What is anemophilye Give two examples. Differentiate between self pollination and
cross pollination on the basis of the given points- a) Definition b) Agents. (1+2+2=5)

6. Describe what happens after ferfilization in a woman. How is the growing embryo
nourished and protected? (3+2=5)

OR

Explain various modes of asexual reproduction in brief giving one example of each kind.
(2.5x2=5)

GROUP- C (10 Marks)

1. Draw a neat, labelled diagram of the following: -
(5+5=10)

i) Human female reproductive system. i) Longitudinal section of the ovary of a flower
showing the process of fertilization.



